


2.

o2 A 5 Q, O©°f o851 e FAle] ALt H
2 H?
(=5)+(+8)+(+5)
=(=5)+(+5)+(+8) jg
:{(—5)+(+5)}+(+8)j

=0+(+8)

=8
© L, Ly @ ey, 2
® AW, B @ AW, 2
® wuEa, mehg

t
rE
I

L
»




0

®_’_5_’+

(+108) -

+108
+108) +
+108

(+
_|_

) — (4+93) — (+8)
=7

/\,_A,,_A,/-\ J
|~ —~

= (+108)
= (+108) +
= (+108) +
= (+108) +







14 4 2 1
37 37 6

24,0,

(2B K]




@ 14.5




19
I 5k @, 02 9 # 4]
9

oo

N

=
=
=
7

r!o

A

D) -206 ® ®206
® @®-200 @ -503
® 503

O

|14 Al el <l || 42 ghol

—"H

N H

6+0+5+(-8) =3B
6+Q+(-7)+6=3,0=-2




(—2.8) X (=14) + (-2.8) x (+19)

® 12 @ 125 ® 13 @ 135







10. [15] & 158 92 ¢ 7P 2 A5olch o i [-1.6] + [5.6] &
Al4FsHA?
@ -1 @ 2 @3 @ 4 ® 8




@ a9 WOgte] 3012, b o Aol 5 AW a—b 9 % F
VA e gL —2 olk.
@)a<0°l®a ol BHZES —a oIt

@24 91914 —2 9] A7} 3 A S 1 7% -5 o]tk

® AUkl 4 olskel A4 w8 AT,

B

@ 0 o] Adigk2 ¢ o]t}
@a=3,-3,b=5,-5°22q-b o ZF 71 &2 g2

-3-5=-89|t}.
®a o HUiFt
lal=a (a=0), —a (a<0)

®-4, -3, —2,-1,0,1,2,3,4 2 97jo|th




12, of® felsolH - & wof & 21g 2 stol HotAriu] AN At

2 4 5 11 13
O @ ; ® : = O




5 2 3 o
WSS - -8 - o FOlH AR e A $E ot Fa
T AL 1

40 16 2
-8 = = = =
o @ 7 © 9 9 35 © 21

Fo2 ¥ 24 FolA Al 55 Bo} g
2 3

A7} g odw - =
11 Ay 71 o = 5




